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Difficulty level of Japanese honorific by the judgment of Korean learner

Cho, Nam-Sung

This study reviewed the difficulty level of Japanese honorific by the judgment of Korean learner. The main results are as

follows.

(1) The advanced leamers evaluate the difficulty level of honorific more generously than low level learners. That is, they
judged the difficulty level is relatively low.

(2) The advanced learners evaluate the difficulty level of honorific, humble language I - II, which are the type of honorific,
to be low than low level learners, in terms of polite language, it was almost similar.

(3) In terms of difficulty level of learners(advanced/low level) depending on the type of honorific(verb), the modified type
is higher than general, specific type in the honorific. In addition, in the general type and the specific type, the former
is high in advanced leamner and the latter is high in low level learner. In humble language I, the specific type is higher
than general type, in humble language II, the specific type is a little higher than general type.

(4) In the old JLPT 1, 2, 3, 4 class of honorific and all the grades, the advanced leamers judge the difficulty level lower
than the low level learner, and the difference of difficulty level is big in the order of 3, 2, 1, 4 class.

(5) The difference between the grade depending on the difficulty level of all learers and old JLPT grade shows 31.0%(22/71
ea), and the advanced learners show 28.2% while the low level learners show 36.6%.

(6) The difficulty level can be classified into 5 stages of DI(No 1~14 in <Table 3>), D2(15~28), D3(29~42), D4(43~56),
D5(57~71) in the order of highest level depending on the judgment criteria of difficulty level of all the learners.



